Math  11 Essentials

--  TEST  --

Chapter 9  --  Measurement and 3-D Design

Name:_________________________________                                

Part “A”  --  Short Answer





8 Points

Read each of the following questions carefully.  Place the answer ONLY in the space provided.

1.   ________________
The radius of a circular base of a cylinder is 5 cm.  What is the measure of the diameter?

2.   ________________
A model car uses a scale of 1 inch = 28 inches to the actual car.  What is the actual measure of the car’s bumper if the model’s bumper measures 0.75 inches?

3.   ________________
In the space provided, draw the “net” of a cylinder.

4.   ________________
A cereal box measures 6 cm by 22 cm by 48 cm.  How much cardboard is needed to build the box?

5.   ________________
For the cereal box in #4, what is the cost of the cardboard needed to build the box if recycled cardboard sells for $1.16/cm2.

6.   ________________
The volume of a can is 355 cm3.  How many milliliters is this?

7.   ________________
A model of a chair uses the scale 1 cm = 15 cm.  The height of the seat of a chair is 60 cm.  How high is the seat of the model chair?

8.   ________________
How many times larger is the volume of the second prism than the first?

Part “B”  --  Compulsory Questions






Answer each of the following questions.  Place your answer in the space

provided.  Show all work to earn full marks for your answers. 

1. A rectangular flower bed measures 3 yards by 2 yards.  The bed must be dug out and filled with topsoil to a depth, or height, of 0.25 yard.  Topsoil is delivered for $72 per cubic yard.  6 Points
(a) Calculate the volume of topsoil required to fill the flower bed.

(b) Calculate the cost of the topsoil delivered.

2. A cylindrical foot stool has a radius of 21 cm and a height of 38 cm.   

6 Points 

(a) Calculate the amount of material used to cover the foot stool.  The foot stool does not use material on its bottom.

(b) If leather material costs $64.23 /cm2, what is the cost of covering the foot stool?

3. The CN Tower is a cylinder shape with a base with a diameter of 66.6 m and a height of 433.33 m.  If you build a scale model where the scale is 1:50, or 1 m represents 50 m, the base of the model would have a diameter of 1.33 m.  What height of a room would you need for displaying the model?  5 Points
4. Which container has the greater volume?  How much greater?  8 Points
5. Kyle and Brandon are building a water garden.  The pond is circular and 1.5 m in diameter.  It will be filled with water to a depth, or height, of 0.5m.

11 Points

(a) Calculate the volume of water in the pond.  Report you answer with two decimal places.

(b) Kyle and Brandon plan to stock the pond with goldfish.  One goldfish requires about 0.125 m3 of living space.  About how many goldfish can the guys put in the pond?

(c) The pond requires a liner that must cover the bottom and the side.  Calculate the cost of the liner is the charge is $14.76/m2.

